
EBAPS scoring scheme 
 

Each item is scored on a scale of 0 (least sophisticated) to 4 (most sophisticated). 
The scoring scheme is non-linear to take into account question-by-question variations in 
whether, for instance, neutrality is more or less sophisticated. A subscale score is simply 
the average of the student's scores on every item in that subscale. (When an item within a 
given subscale is left blank, the average is calculated without that item included.) 
Sometimes we multiply through by 25 in order to report subscale scores on a scale of 0 to 
100. 
 
To automate the scoring using Microsoft Excel, download the Excel scoring template. 

  
A: Strongly disagree B: Somewhat disagree C: Neutral D: Somewhat agree E: Strongly agree 

  
1. A = 4, B = 3, C = 1, D = 0.5, E = 0 
2. A = 0, B = 1.5, C = 2.5, D = 3.5, E = 4 
3. A = 0, B = 1, C = 2, D = 3.5, E = 4 
4. A = 4, B = 3, C = 2, D = 1, E = 0 
5. A = 0, B = 1, C = 2, D = 3, E = 4 
6. A = 4, B = 4, C = 2, D = 1, E = 0 
7. A = 4, B = 3, C = 2, D = 1, E = 0 
8. A = 4, B = 3, C = 1.5, D = 0.5, E = 0 
9. A = 0, B = 1, C = 2, D = 3, E = 4 
10. A = 4, B = 3, C = 2, D = 1, E = 0 
11. A = 0, B = 1, C = 2, D = 3, E = 4 
12. A = 0, B = 0.5, C = 1, D = 3, E = 4 
13. A = 4, B = 3, C = 1, D = 0.5, E = 0 
14. A = 4, B = 3, C = 2, D = 1, E = 0 
15. A = 4, B = 3, C = 2, D = 1, E = 0 
16. A = 0, B = 1, C = 2, D = 3, E = 4 
17. A = 4, B = 3, C = 1.5, D = 0.5, E = 0 
18. A = 4, B = 3.5, C = 1.5, D = 0.5, E = 0 
19. A = 4, B = 0, C = 3, D = 2, E = 1 
20. A = 4, B = 0, C = 3, D = 2, E = 1 
21. A = 4, B = 3, C = 2, D = 1, E = 0 
22. A = 4, B = 3, C = 2, D = 1, E = 0 
23. A = 0, B = 4, C = 1, D = 2, E = 3 
24. A = 4, B = 4, C = 2, D = 1, E = 0 
25. A = 0, B = 1, C = 2, D = 4, E = 4 
26. A = 4, B = 4, C = 2, D = 1, E = 0 
27. A = 4, B = 4, C = 2, D = 1, E = 0 
28. A = 0, B = 1, C = 2, D = 3, E = 4 
29. A = 0, B = 2, C = 4, D = 2, E = 0 
30. A = 0, B = 1, C = 2, D = 3, E = 4 


